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Outcome 1 - Wage Slips & Income Tax

Bronze example Silver example Gold example

f/ \ Examples... \ Examples.., -\

Rory is a doctor and earns £130 000 each
year. He has a personal tax allowance

of £1500. How much does Rory

pay in income tax each year?

Examples...
The table shows the Scottish Income Tax
rates you pay in each band if you have a
standard personal allowance of £11 500.

Reid's Autos g Add
Brooke worksin an office.

She earns £27 500 in one year. P

She has a personal tax allowance ﬂj
of £11 500. How much does

Brooke pay in income tax each year?

Payments | Deductions Payments]

Basic £943-67 | Inc Tax £14574
O/T £189-76 NI. £8962
Pension £85-39

GROSS Pay Deductions

| £1133-43] | [ £32075 ]
2. Calculate income tax to pay at basic rate

NET Pay Deductions! 02 x 16 000 = £3200
.
) S )\

1. Caleulate income tax to pay at basic rate
02 x 41 500 = £8300 43 000 - 1500
= £41 500

Add

Deductions! )
2. Calculate income tax

at higher rate

04 x 87 000 = £34 800 130 000 - 43 000
= £87 000

1. Calculate taxable pay

27 500 - 11500 = £16 000

GROSS Pay

3. Calculate the total tax bill

8300 + 34 800 = £43 100

. Band Taxable Income tax rate
Bronze Questions w
Personal allowance | Upteo £11 500 0%
Calculate the missing values »é/ Basic rate £11 501 to £43 000 20%
in the following wage slips..... ' Higher rate £43 001 o £150 000 40%
Payments Deductions Payments Deductions Additional rate Over £150 000 45%,
% £5098-62 £95-37 £62478 £94-65
£97-43 £48-29 - £99-64 £52-48
£4362 £49:37 Silver Questions
GROSS Pay | Deductions GROSS Pay | Deductions
? B ? B
NET Pay F NET Pay F Calculate the annual income tax bills
for the following professionals...
Payments Deductions Payments Deductions
9| £79852 £123-64 .s £878-25 £129-87 G . I d
£127:39 £6345 £13568 £72:56 4y Zary isacar salesman and earns
£60-80 £60:43 'E,ZB 000 PBI" year. He has a
GROSS Pay | Deductions GROSS Pay | Deductions personal tax allowance of £11 500.
? v ? v
NET Pay ? NET Pay ? o
Henry is a librarianand earns
Payments Deductions Payments Deductions =9 £17 100 per year. He has a
é ? £03:58 59 | £165387 £227:39 personal tax allowance of £11 500.
£127-84 £40-24 £244-76 7
£46-74 £9876
GROSS Pay | Deductions GROSS Pay | Deductions . .
> £18056 180663 = S Mark is a businessman and earns
NET Pay  £60385 NET Pay £14570 £41 800 per year. He has a
personal tax allowance of £11 500.

Gold Questions

Calculate the annual income tax bills for the following -
professionals... ’é)

Martin is an engineer and earns
£54 900 per year. He has a personal
+ax allowance of £11 500.

Georgia is a solicitor and earns
- £88 300 per year. She has a
- personal tax allowance of £11 500.

Brian is a managing director and
earns £180 000 per year. He does
not receive a personal allowance.
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Bronze Answers

GROSS = £696056, Deductions = £187-28. NET= £50877
GROSS = £791-97.  Deductions = £196:-60. MNET = £659547

P

GROSS = £926:01,  Deductions = £247-98, MNET=£677-93
GROSS = £101393, Deductions = £271:86, MNET= £742:07
GROSS = £79341, Basic = £665'67
Deductions = £445-84, Mational Insurance = £119-69

oom R W

Silver Answers

1. £3300
2. £1120
3. £6060

Gold Answers

1. £11060
2. £28540
3. £64900
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